Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Power Plant Engineering
Subject Code : 2TEO6PPE1 Branch: Diploma (Mechanical)
Semester : 6 Date : 19/10/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) Pulverized coal is 01
A) coal free from ash  (B) non-smoking (C) coal which (D) coal broken into

coal bums For long fine particles..
time

b) Coal used in power plant is also known as 01
(A) steam coal (B) charcoal (C) coke (D) soft coal.

c)  Which of the following is considered as superior quality of coal ? 01
(A) Bituminous coal  (B) Peat (C) Lignite (D) Coke.

d) Equipment used for pulverizing the coal is known as 01
(A) Ball mill (B) Hopper (C) Burner (D) Stoker

e) Low grade fuels have 01
(A) low moisture (B) low ash (C) low calorific (D) low carbon content
content content. value

f)  The overall efficiency of a boiler in a thermal power plant is of the order of 01
(A)10% (B) 25 to 30% (C) 40 to 50% (D) 70 to 80%.

g) As steam expands in turbine 01
(A) its pressure (B) its specific (C) its boiling (D) its temperature
increases volume increases point increases increases.

h)  Which of the following, is not a high pressure boiler ? 01
(A) Loeffler boiler (B) Lancashire (C) Velox boiler (D) Lamont boiler.

boiler

i)  Within the boiler, the temperature of steam is highest in 01
(A) water drum (B) water tubes (C) water walls (D) super heater.

j)  Chemical representation for heavy water is 01
(A) H20 (B) H.0, (C) Hs0 (D) D30.

k) In Canadium Deuterium Uranium reactor (CANDU), heavy water is used as
(A) Moderator (B)Coolant (C)Neutron (D)AII of the above

reflector
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Gas cooled reactors are moderated.
(A)Light water (B)Heavy water (C)Graphite (D)Beryllium
The source of energy for satellite is
(A) battery (B) solar cell (C) cryogenic (D) any of the above
storage
Tidal energy mainly makes use of
(A) kinetic energy of  (B) potential (C) both kinetic (D) none of the above.
water energy of water as well as
potential energy
of water

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-6

Q-7

(A)
(B)

(A)
(B)
(A)
(B)
(A)
(B)
(A)
(B)

(A)
(B)

(A)

(B)

Attempt all questions
Explain Lamont boiler with figure.
Explain (a) Standby power plant
(b) Peat head power plant
Attempt all questions
Explain hydraulic and pneumatic ash handling system.
List the advantages and disadvantages of diesel power plant over thermal power plant.
Attempt all questions
Explain wind power plant with sketch.
What is Supercharging ? State the various effects of Supercharging in Diesel Power
Plant.
Attempt all questions
Explain pressurized water reactor (P.W.R) reactor with figure.
Explain Environmental aspects for selecting the site and location of hydro power plant.
Attempt all questions
List various essential components of gas turbine and explain combustion chamber with
sketch.
Discuss nuclear fuel, coolant and moderators.
Attempt all questions
Explain energy conversion in steam power plant with the help of block diagram.
Explain pulverized coal furnace.
Attempt all questions
Explain (a) National grid system and
(b) Nuclear fission and nuclear fusion process.
List the types of conveyor. Explain screw conveyor.
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